
Securing cargo. We invented the concept.

80
31

91
 C

S Series
Low Profile Attachment

Art.nr 803191



BezeichnungDescriptionBenämningArt.nrPos.
Bügel ObenUpper ClampÖverbygel 190 115 1478007651
GrundplatteMounting PlateMonteringsplatta8031922
Befestigungs BügelLower ClampUnderbygel Låg8031933
Kunstoff UntenFriction Plastic KitFriktionslist Sats8008784
SchlossplatteLock PlateLåsbleck8031635
GummidämpferRubber PuckGummipuck Ø408031386
ScheibeWasherBRICKA M20 FZB2119027
StopmutterLocking NutLåsmutter M20 FZB2118618
SchraubeScrewSkruv M20x80 FZB2111819
SchraubeScrewSKRUV M20x60 FZB21115910

Securing cargo. We invented the concept.

80
31

91
 C

ExTe Fabriks AB, SE-820 41 Färila Sweden. Tel: +46 (0)651 175 00. Fax: +46 (0)651 175 03. E-mail: info@exte.se www.exte.se

Low Profile Attachment 

Page 2 

33

272

168

360

1

2

5

6

3

8

10

7

8

9

Vikt / Weight:/ Gewicht: 13,8kg

8

4

250 Nm


